Egalité Aywaille
TRELOU Yearl. de 130817, laché & 1000, Point cé228000. 12 Pigeons 4 Participants

Résumé du tableau miroir
OB PAN MIS MIS MIS MIS POU POU POU POU H10 H10 H2MH20 AS AS SD SND POT CO

12 5 25 25 50 50 25 25 50 50 15 10 15 10 15 10 15 15 50 15
12 12 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N°.LcSomme Nom CommuneDistance Bague MrgNbr Jr H. réelldesse OB PAN MIS POU H10 H20 AS SD SND POT CO
11 0,61 ARENDTJEAN-PAUL ESNEUX 215981 111455916 2/ 6 124@®,0 1069,2129 36 30
2 1 0,50 ANDRIEN JEAN CLA SPRIMO 219237 114636516 1/ 3 128338,1 1053,3404 36 18
3 1 0,45 ARENDT JEAN-PAUL ESNEUX 2117435116 4/ 6 13 133057023,8493 36 12
4 1 0,33 ANDRIEN JEAN CLA  SPRIMO 2113506116 2/ 3 13 13585(0929,6203 36
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